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KSF 2017 - PreEcolier- Levels 1-2

3 point problems (ntpoBAnuara 3 povadwv)

1. Who caught the fish?
Movog mrpe to PapaKi;

David
Charlie

(A) Adam (B) Basil (C) Charlie (D) David (E) Edgar

2. In the picture there are 5-pointed, 6-pointed and 7-pointed stars. How many 5-pointed stars are
there?
JTNV €LKOVA UTIAPYOUV QLOTEPLA E 5 HUTEC, 6 HUTEC Kal 7 HUTEC. MNooa aoTépLa e 5 HUTEG UTTAPYOLV;

(A)2 (B)3 (4 (D)5 (E)S

3. The entire pie as seen in the picture is divided among children. Each child receives a piece of the
pie with three cherries on top. How many children are there?

OAOKANPN N mita, onwg paivetal otnv ekova polpdaletal HeTall Twy matdlwyv. Kabe maidi Aappavel
£Val KOUUATL TNG Ttitog pe Tpia Kepdaota. Mooa maldld umapyouy;

(A)3 (B)4 (C)5 (D)6 (E)8



4. In how many parts does the cut split the rope in the picture?
Y€ OO KOUUATLO KOBETAL TO oKOWi ard To Koo, tou daivetal oTnv KOVaA;

(A)5 (B)6 (C)7 (D)8 (E)9

5. Ellen wants to decorate the butterfly with these stickers.

Which butterfly can she make?

HEAeva BéAeL va SLaKoopunoeL TV eTaAouda TNG UE aUTA T

OUTOKOAANTAL. . . ..

Mota metadoUSa Umopel va oxnuatiost;

I I I (B) | (Q)
(D) I|I (E) :\:I:/:

6. How many bricks like this (figure) are missing in the igloo?
Méoa touBAa (6Twe dpaivetal otnv ekova) Aeimouv amod To LykAou;

(A)8 (B)9 (C)10 (D)11 (E)12



7. In the drawing we see a string of four beads. Which of the strings below is the same string?
210 0X£610 BAEMOUE Eval UMAEYUEVO TIEPLOEPOLO LIE TECCEPELG XAVIPEC.
Molo amod Ta mapakatw nepldépata ival to i6Lo;

(A) Q (B) Q () Q (D) Q (E) Q

8. Four out of the numbers 1, 3, 4, 5 and 7 are used, one in each square, so that the equality is
correct. Which of the numbers is not used?

TomoB£tnoe téooepa ano ta Pndia 1,3, 4, 5 kat 7 ota TETpaywva, Ywplig emavainyn, £ToL wote n
LooTNTA va gival cwotr. Molog and toug aplBpolg Sev xpnoLlomnoleitay;

+| |=| |+

(A)1 (B)3 (4 (D)5 (E)7

4 point problems (npoBAnuara 4 povadwv)

9. In the country of Jewelleries you can trade three sapphires for one ruby (picture 1).

For one sapphire you can trade two flowers (picture 2). How many flowers can be traded for two
rubies?

21N xwpa Twv Koopnpatwy pnopeite va avtaAlagete tpia {adeipla pe Eva pouprivi (elikova 1-
picture 1). To éva {adeipt pnopeite va to avtarlagete §Uo Aoulovdla (ewova 2 — picture 2). MNdoa
AouAoUdLa pmopeite va avtadldéete pe Vo pouumivia;

‘=‘ . ‘ picture 1

.—)%% picture 2

(A)6 (B)8 (C)10 (D)12 (E)14



10. At some moment Jim and Ben sat on the carousel as in the picture. Carousel turned moving
Ben to the place where previously was Jim. At that moment where was Jim?

Y€ KAmola oTyun, o Jim kat o Ben kaBloav oto KapouléA onwe dpaivetal otnv ikova.

To KapouléA Eekivnoe va Kiveital kat o Ben Bp€Bnke otn B£on mou ATAV TPONYOUEVWG O Jim.
Ekelvn tn otyun, o Jim mou Bplokdtay;

BEN

N
JIM

S

JIM
N 1M
™M
(A) (B) (C)
1M
S

(D) | - JIM

11. How many triangles are there in the picture?
MNoéoa tplywva UAPXouV OTNV ELKOVQ;

(A)8 (B)9 (C)10 (D)11 (E)12



12. Alfred was turning a shape. The first three turns are shown in the picture.
He did ten turns in total. How does the shape look like at the end?

O Alfred avamodoyupilel to oxua. OL Tpelg MPpwTeG oTpodEC dpaivovral oTtnv eKova.
‘Ekave 6éka oTpodEC ouVOoAKA. Mwe Ba poldlel To oxnUa oTo TEAOG;

TN 2N 73
I —

(A) (8) | o) L (o) Gl

13. In which picture pears are half as many carrots and apples are twice as much carrots?
Y€ ToLaL ELKOVA £XOUE Ta aXAASLO val €lval Ta HLOA oo T KApOoTa Kal ta UAAa va eivot SutAdoia
Qo TO KapOoTa;

(D) (E)

14. Brian and William are queuing up in the theatre. Brian knows that there are 7 people in front
of him. William knows that there are in total 11 people in the queue. If Brian is just in front of
William, how many people in the queue are behind William?

O Brian kat o William otékovtat oelpd oto B€atpo. O Brian £€pel 6TL udpXouV 7 ATOUA UITPOOTA
tou. O William &€peL 6TL cuvoAikd untdpyouv 11 dtopa otn oslpd. Av o Brian otéketal akpLpwg
umnpootd and tov William, méoa dtopa Bpiokovtal otn oepd niow and tov William;

(A)2 (B)3 (€4 (D)5 (E)6



15. Now it is a quarter past one o'clock. What time it was two and a half hours ago?
H wpa twpa sival pia kat tétapto. Tt wpa ATay npLv SUSHLON WPEG;

(A) . (B) .(C) .(D) (E) .

16. Liz is making paper crowns like this =EEEE———————— by printing and cutting the forms from

the models she got from Internet. They come in two separated sheets of paper,
If she wants to make 7 crowns, what is the minimum number of sheets that she will have to print?

H Alla dtidyvel KOpWVEG 0TO XapTi OMwe autd 1T  (36{gKOVTOC TO OXAUATA AUTA
oto SLadikTtuo OMmou Ta eKTUTIWOE Kal Ta €koPe. Ao to Staduktio maipvel Vo Eexwplotd GpUAAQ
XapTLoU Omwe dpaivovrtal To KAtw. Av BEAEL vo KAVEL 7 KOPWVEG, TIOLOG ELVaL O EAAXLOTOG OPLOUOG

TwV GUAAWV XapTLWV TIoU Ba TIPETEL VAL EKTUTIWOEL;

— O o0 + +
— 000

and/kou

(A)7 (B)9 (C)10 (D)11 (E)13



5 point problems (npoBAnuata 5 povadwv)

17. If the table of the figure, which has been partially covered by a spot of ink, must show correct
sums, what number should go to the box with the question mark?

EAv o mivakag mLo KATw, o omoiog £xel KAAUPOeL ev pépel amd Eva Aeké amod pehavy, penel va Seiel
owota abpolopata, molog aplBUOC AElMEL 0TO KOUTL LE TO EPWTNUATLKO;

+ 10 7
5(15 |12

14

(A)10 (B)11 (C)12 (D)13 (E)15

18. In Old McDonald's Barn there are one horse, two cows and three pigs.

How many more cows does McDonald Barn need so that half of all the animals are cows?

2tn ¢appa tou Old McDonald untapyouv €va dAoyo, SUo ayeAddeg Kal tpia youpouvakia. Mooeg
TIEPLOCOTEPEG ayeEAASEC XpeLaletal n ¢papua tou McDonald £€tol wote Ta pLod anod oAa tou ta {wa
va elvat oL ayeAAdeg;

o
LA WA

(A)o (B)1 (92 (D)3 (E)4

19.) Sepehr has two paperboards. He colored one side of each paperboard like this:

Which shape can he make using both pieces?

O Sepehr £xeL 6U0 xaptovia. Zwypadloe Tn pio MAeupd Tou KGO xapToviol onwe dailveTal 0To
oxnuo. Moo amno Ta oXAUATA UTOPEL VO OXNUATIOEL XPNOLLOTOLWVTAG KOl Tat SU0 KOUUATLA,

ﬁ ﬁ EninplNe. "S5
(A) (B) (©) (D) (E)




20. The Kangaroo makes 10 jumps in 1 minute and rests 3 minutes after, then he makes again 10
jumps in 1 minute and rests 3 minutes, and so on. At least, after how many minutes will he make
50 jumps?

To kaykoupo Kavel 10 aApota o 1 Aemto Kot LeTd Eekoupaletal 3 AeMTA, LETA KAVEL KAl TTaAL 10
aApota og 1 Aento kat Eekoupdletal 3 AeMTd, Kol oUTw KoOeENG. MeTd amnod moca Asmtd Ba £xel
Kavel 50 aApara;

(AY4 (B)5 (C)16 (D)17 (E)21

21. Which stamp was it used to get the figure?
Mota odppayida xpnolponolBnKe £T0L WOTE VA €XOULE TO TILO KATW OXESL0;

-—

(A) (B)

2

(€) (D) (E)

22. Each of the 4 keys fits only one of the 4 padlocks and the numbers on the keys refer to the
letters on the padlocks.

What is written on the last padlock?
KaBe éva amo ta 4 kAeldLd tatplalel Lovo o pia amo TG 4 KAeOWVLEG Kal oL aplBpol ota KAELSLA
avadEpovTal oTa YPAUUATO TAVW OTLG KAEWOWVLEG. TLypadel mAvw oTn TedeuTala KAEWSWVLG,;

(A) GDA (B)ADG  (C)GAD (D) GAG (E) DAD



23. If John looks through the window he can see half of the kangaroos in the park. How many
kangaroos are there in the park?

Av o Tavvng BAEneL amo to mapdBbupo Ta HLoA Ao T KOYKOUPO OTO TIAPKO, TIOCO KAYKOUPO £XEL
OGUVOALKA OTO TIAPKO;

(A) 12 B)14 (C)16  (D)18 (E) 20

24. In a stack of three cards with holes, the top of each card is white and the bottom is grey.

Basil threaded these cards on a rope. After some manipulation of the thread of these cards, which
situation can he get?

Y€ €va owpo Ao KAPTEG UE OTIEG, TO TIAVW MEPOC TNG KABE KAPTOC Elval AEUKO KOlL TO KATW UEPOG
gival ykpilo. O BaoiAng mépaoe AUTEG TIG KAPTEG O€ £va oxoLwvi. Metd amo avadlappubpion tou
OXOWLOoU HE TIC KAPTEG, OE TTOLX OELPA Umopel va BpeBolv oL KAPTEC;

(A) @ (B) @ Q) @ (D) @ (E) g@

10



